Quiz 5

A Term, 2015

(5 points each) For each power series, please find z,, the center of the interval of convergence,
and R, the radius of convergence. Show all work needed to reach your answers. If you need the

value of any limit to reach your answer, please compute that value.

S e—
2!‘

/L/(;/ fo/’ ‘\
Nedian :

Low ! T?

e *‘“i

= 3"
@D 1t (Lo an B
g:': » naw/'a?.: ~ a»00 3" n (4+1)
@23 ["-;b% '@g GU
a1 ) _—
s S s

4. Suppose Z a,z® converges with radlus of co = 5. What’s the radius of con-
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